'II! ,’ A!! ! !l!

ECHNICAL INFORMATION " os040
. January 2013
P> Modification of Wheel cover, Bearing box and Housing set (Page 1 of 3)

For Models P BGA402, BGA450, BGA452, GA4034, GA4534, GA5034

P> See below and the next page.

P> Wheel cover, Bearing box and Housing set have been modified to comply with AU/ NZ standards,

etc.
(D BGA402 for Australia, New Zealand

» Current

> New

Wheel cover ass’y (135196-9)
including M5x14 Pan head screw (265103-9)

N
Q\ M5x14 Pan head screw
Protrusion (265103-9)
T [er =

34.5mm (F I

Wheel cover 100AK ass’y (125885-4)
including O ring 4 (213009-5) and M5x16 Pan head screw (265180-1)

Oring 4
(213009-5N >
M5x16 Pan head screw —— Three .
(265180-1) protrusions

39.5mm | | |

Bearing box (317819-3)

Depression

Bearing box (318331-6)

Three depressions

Housing set (188704-5)

Two protrusions

Hollow

(@ BGA450 for Australia and BGA452 for Australia, New Zealand

» Current

> New

Wheel cover ass’y (125267-0)
including M5x14 Pan head screw (265103-9)

U
M5x14 Pan head screw———S

(265103-9)

42 mm | f |

Bearing box (317819-3) @
Q

Depression

Wheel cover 115AK ass’y (123098-1)
including O ring 4 (213009-5) and M5x16 Pan head screw (265180-1)

O ring 4 (213009-5)
\ﬁ, B
B
M5x16 Pa{1 head screw > %
S Three
265180-1 N
( ) = S—”‘% protrusions

46 mm || |

Three depressions

Housing set
(for BGA450: 188703-7)
(for BGA452: 188704-5)

Two protrusions

Housing set
(for BGA450: 188762-1)

(for BGA452: 188761-3) hollow




98940

(Page 2 of 3)
(B GA4034 for Australia, Hong Kong, India, Kuwait, New Zealand, Philippines, Saudi Arabia, Singapore, UAE, UK,
Vietnam
» Current > New
Wheel cover 100K ass’y (122885-5) Wheel cover 100AK ass’y (125885-4)
T e =1 A=
34.5mm | f ) 39.5mm | | |

@ BGAA450 for Austria, France, Germany, Italy, Netherlands, Reunion, Russia, Spain, Sweden, Turkey, UK
BGAA452 for Austria, China, Cyprus, Commonwealth of Dominica, France, Germany, Italy, Netherlands,
New Caledonia, Poland, Reunion, Russia, Spain, Sweden, Switzerland, Tahiti, Turkey, UK
GA4534 for Argentina, Bhutan, Brazil, Chile, Commonwealth of Dominica, France, Italy, Kuwait, Netherlands, Peru,
Saudi Arabia, Singapore, South Africa, Spain, Turkey, UAE, UK

» Current

» New

Wheel cover 115K assembly (122886-3)

&= 1)

(a

42 mm

Wheel cover 115AK ass’y (123098-1)

B =_1

46 mm

)

(3) GA5034 for Australia, Bhutan, France,Germany, Hong Kong, India, Italy, Kuwait, Netherlands, New Zealand,
Saudi Arabia, Singapore, South Africa, Spain, Switzerland, Turkey, UAE, UK

» Current

» New

Wheel cover 125K assy (122887-1)

42 mm

Wheel cover 125AK assembly (123099-9)

=T

N

46 mm

\(

Edge (The shape becomes round.)

(® GA5034 for France

» Current

» New

Toolless wheel cover 125K ass’y (122895-2)

(=

Toolless wheel cover 125AK

assy (123145-8)

[46 mm

Edge (The shape becomes round.)




Interchangeability(I/C)

98940
(Page 3 of 3)

Item No. Current part Q'ty | I/C New part Q'ty Note
Wheel cover ass’y Wh’eel cover 100AK A
------------------------- ass
028 135196-9 1 No | 9> Y ____________________ 1
125885-4
0p7 | banhead screw Mx14 1 | No |Pan head screw M5x16 | Interchangeable
265103-9 265180-1 as a set
D o028 — O ring 4 :
--------------------- B SR The components of
C10 213009-5 Wheel cover ass’y/
Bearing box Bearing box Wheel cover 100AK
022  femeem e 1 | NO pmome T 1 |ass’y
317819-3 318331-6
Housing set Housing set
037,042 |-emamme e 1 | Yes po---mmmmmmmmmeceeeea 1
188704-5 188761-3
s Wheel cover 115AK
og | Wheelcoverass’y N fassy 1
125267-0 1230981
0p7 | Panhead screw M5x14 | | No | Pan head screw M5x16] 1 Interchangeable
265103-9 265180-1 as a set
— O ring 4
@ 221% --------------------- 5 - % ------------------ 1 |The components of
213009-5 Wheel cover ass’y/
Bearing box Bearing box Wheel cover T15AK
--------------------------------------------------- ass
022 317819-3 ] No 318331-6 ! Y
037, 042 |Housingset 1 | ves [Housingset | 1 | BGA4s0
188703-7 188762-1
Housing set Housing set
037,042 f--mme T I | Yes pomommmostmmme 1 | BGA452
188704-5 188761-3
Wheel cover 100K Wheel cover 100AK
@ | o034 Jassly | Doje—lassy !
122885-5 125885-4
Wheel cover Wheel cover BGA4S0. BGAAS2: 028
@ |SeeNote. | 115K assembly I | |115AKassy 1 | GAd534: 034
122886-3 123098-1
Wheel cover 125K Wheel cover 125AK
® | 034 |assy 1 |e—assembly 1
122887-1 123099-9
Toolless wheel cover Toolless wheel cover
® | 034 |125Kass’y I |«—125AKassy 1
122895-2 123145-8

Interchangeability mark ;
The arrow «— means that the new part can be substituted for the current.

Implementation

From March 2013 production



	98940-WW-1
	98940-WW-2
	98940-WW-3

